[NaBHbLIN NPOEKT

na. Pexunm HasBaHwue 3agaum HassaHuA pecypcos
o 3agaum
0 =) FnaBHbI NpoeKT
| = TexHuuyeckoe nepeBoopyeHue 3x
3HEKTpOABMI'aTEIIeﬁ
2 |E= = 3aTpaTbl Ha ynpasaeHue
3 =4 % 3aTpaTbl HA MapKEeTUHT
4 |E = AXO
5 |[E] = MpoeKT c KOPNopPaTUBHbLIM NMY/IOM

Crp. 1




[NaBHbLIN NPOEKT

LOnntenbHocTb [Havano brogrkeTHaa OKOH4YaHue
CTOMMOCTb

261 pHeir? Bt 01.01.13 1000000,00p. BT31.12.13
192 gHeir MNMH 18.02.13 1000 000,00p. Br12.11.13
261 gHein? Bt 01.01.13 Bt 31.12.13
261 aHen? Bt 01.01.13 Bt 31.12.13
261 gHein? Bt 01.01.13 Bt 31.12.13
89,07 pHei? N1 12.04.13  0,00p. YT 15.08.13

Ctp. 2




